Big Rock Comprehensive Plan ¢ Public Meeting Feedback

On May 13, 2013, Big Rock residents participated in a Visual Preference Survey workshop held at the
Big Rock Fire Department to help inform the Big Rock Comprehensive Plan. Please keep in mind these
images represent ideas for future development rather than specific designs. The following are the
public workshop results.

Demographics: Live and Work (multiple choice) Responses

I live in the village 3 30%
I work in the village 0 0%
I live AND work in the village 3 30%
I live outside the village of Big Rock but within Big Rock Township 3 30%
Neither 1 10%
Other/decline 0 0%
Totals 10 100%
What type of housing do you live in?  (multiple choice) Responses

Apartment 0 0%
Single family home 10 100%
Townhome 0 0%
Other 0 0%
Totals 10 100%
In your next move, what type of housing do you want ? (multiple choice) Responses

Apartment or condo 0 0%
Single family home 8 80%
Townhome or duplex 1 10%
Other 1 10%
Totals 10 100%

What type of housing do you imagine most seniors would prefer ?
(multiple choice) Responses

Apartment or condo 3 30%
Single family home 2 20%
Townhome or duplex 4 40%
Other 1 10%
Totals 10 100%



What type of housing do you imagine most young people would prefer  ?
(multiple choice) Responses
Apartment or condo 2 20%
Single family home 7 70%
Townhome or duplex 0 0%
Other 1 10%
Totals 10 100%
Visual PreferencePolling Results
Responses
No. | Image Opinion: Counts | Percentages
How would a development Ifkerosun Farmis Kane County
fitin?
1 -3 I't wouldndét fit the vi 0 0%
-2 2 22%
-1 0 0%
0 Neutral 1 11%
1 1 11%
2 0 0%
3 I 6d |like to see this i 5 56%
Total 9 100%
Housing How does this building fit the village?
2 -3 I't wouldndét fit the vi 1 10%
2 1 10%
-1 1 10%
0 Neutral 0 0%
1 1 10%
2 2 20%
3 I 6d |like to see this i 4 40%
Total 10 100%
3 -3 I't wouldndét fit the vi 1 10%
2 0 0%
-1 2 20%
0 Neutral 3 30%
1 2 20%
2 0 0%
3 I 6d |li ke to see this i 2 20%
Total 10 100%
4 -3 I't wouldndét fit the vi 1 10%
2 1 10%
-1 1 10%
0 Neutral 1 10%
1 1 10%
2 3 30%
3 I 6d |i ke to see this i 2 20%
Total 10 100%
5 -3 I't wouldndot fit the vi 0 0%
-2 0 0%
-1 1 10%
0 Neutral 2 20%
1 1 10%
2 4 40%
3 I 6d |i ke to see this i 2 20%
Total 10 100%




6 -3 It woul dnot he vi 1 10%
-2 2 20%
-1 2 20%
0 Neutral 0 0%
1 1 10%
2 4 40%
3 I 6d | i ke to his i 0 0%
Total 10 100%
7 -3 't woilagedndt he 4 40%
2 2 20%
-1 2 20%
0 Neutral 0 0%
1 0 0%
2 2 20%
3 I 6d | i ke to his i 0 0%
Total 10 100%
8 -3 It wouldnot he vi 4 40%
-2 1 10%
-1 2 20%
0 Neutral 3 30%
1 0 0%
2 0 0%
3 I 6d | i ke to his i 0 0%
Total 10 100%
9 -3 It woul dnot he vi 7 78%
2 0 0%
-1 0 0%
0 Neutral 1 11%
1 0 0%
2 1 11%
3 I 6d | i ke to his i 0 0%
Total 9 100%
10 -3 It woul dnot he vi 5 50%
2 1 10%
-1 0 0%
0 Neutral 2 20%
1 0 0%
2 2 20%
3 I 6d | i ke to his i 0 0%
Total 10 100%
11 -3 It woul dnot he vi 4 44%
-2 2 22%
-1 2 22%
0 Neutral 0 0%
1 0 0%
2 0 0%
3 I 6d | i ke to his i 1 11%
Total 9 100%
12 -3 It wouldnot he vi 6 60%
2 1 10%
-1 2 20%
0 Neutral 0 0%
1 1 10%
2 0 0%
3 I 6d | i ke to his i 0 0%
Total 10 100%




13 -3 It woul dnot fi he vi 5 50%
-2 1 10%
-1 1 10%
0 Neutral 0 0%
1 1 10%
2 2 20%
3 I 6d |i ke to se his i 0 0%
Total 10 100%
14 ﬁ -3 It wouldno6t fii he vi 1 10%
N econd fioor 2 0 0%
>‘ above retail/office _1 O 0%
0 Neutral 1 10%
1 2 20%
2 3 30%
3 I 6d | i ke to se his i 3 30%
Total 10 100%
15 -3 It wouldnot fi he vi 9 90%
-2 0 0%
-1 0 0%
0 Neutral 1 10%
1 0 0%
2 0 0%
3 I 6d |i ke to se his i 0 0%
Total 10 100%
16 -3 It wouldnot fii he vi 6 60%
-2 3 30%
-1 1 10%
0 Neutral 0 0%
1 0 0%
2 0 0%
3 I 6d | i ke to se his i 0 0%
Total 10 100%
17 -3 It wouldnot fi he vi 4 40%
-2 2 20%
-1 1 10%
0 Neutral 2 20%
1 0 0%
2 1 10%
3 I 6d |i ke to se his i 0 0%
Total 10 100%
Do you like this residential character?
18 -3 It wouldnot fi he vi 1 10%
-2 0 0%
-1 0 0%
0 Neutral 0 0%
1 1 10%
2 4 40%
3 Il 6d | i ke to se his i 4 40%
Total 10 100%
How does this building fit the village?
19 -3 It wouldnot fi he vi 0 0%
-2 0 0%
-1 0 0%
0 Neutral 0 0%
1 0 0%
2 5 50%
3 I 6d | i ke to se his i 5 50%
Total 10 100%
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27 -3 It woul dnot fit the vi 1 10%
-2 1 10%
-1 0 0%
0 Neutral 2 20%
1 2 20%
2 1 10%
3 I 6d |Ii ke to see this i 3 30%
Total 10 100%
28 -3 It wouldnodot fit the vi 1 10%
-2 1 10%
-1 0 0%
0 Neutral 2 20%
1 2 20%
2 1 10%
3 I 6d |i ke to see this i 3 30%
Total 10 100%
What if Route 30 in Big Rock looked like this?
29 -3 It wouldnoét fit the vi 0 0%
2 0 0%
-1 0 0%
0 Neutral 0 0%
1 2 20%
2 1 10%
3 Il 6d |Ii ke to see this i 7 70%
Total 10 100%
Would you like to see more trails thoughout Big Rock?
30 -3 It wouldnoét fit the vi 0 0%
2 0 0%
-1 1 11%
0 Neutral 0 0%
1 0 0%
2 2 22%
3 Il 6d |i ke to see this i 6 670
Total 9 100%
Would you like to see more trails connecting with
neighborhoods?
31 -3 It wouldnét fit the vi 0 0%
2 0 0%
-1 0 0%
0 Neutral 1 11%
1 1 11%
2 1 11%
3 Il 6d |i ke to see this i 6 670
Total 9 100%
Would you like to see more bike racks in Big Rock?
32 -3 It wouldnét fit the vi 0 0%
2 0 0%
-1 0 0%
0 Neutral 1 11%
1 1 11%
2 5 58%
3 Il 6d |i ke to see this i 2 2%
Total 9 100%




Would you like to see more sidewalks?

33 -3 I't wouldndt fit the vi 1 10%
-2 2 20%
-1 0 0%
0 Neutral 1 10%
1 1 100
2 2 20%
3 I 6d |i ke to see this i 3 30%
Total 10 100%
Would you like to see more biking/walking to school?
34 -3 I't wouldndét fit the vi 0 0%
2 0 0%
-1 0 0%
0 Neutral 0 0%
1 1 10%
2 2 20%
3 I 6d |li ke to see this i 7 70%
Total 10 100%
Would you like to see students walking to school?
35 -3 I't wouldndét fit the vi 0 0%
2 0 0%
-1 0 0%
0 Neutral 2 20%
1 0 0%
2 2 20%
3 I 6d |i ke to see this i 6 60%
Total 10 100%
Would you like to see large parking lots without landscape
islands?
36 -3 I't wouldndét fit the vi 10 10%
2 0 0%
-1 0 0%
0 Neutral 0 0%
1 0 0%
2 0 0%
3 I 6d |i ke to see this i 0 0%
Total 10 100%
Would you like to see parking lots with green infrastructur|
37 -3 I't wouldndt fit the vi 0 0%
2 0 0%
-1 0 0%
0 Neutral 0 0%
1 2 20%
2 2 20%
3 I 6d |i ke to see this i 6 60%
Total 10 100%
Would you like to see a signalized intersection in Big Roc
Route 30?
38 B3 ltwoul dnét fit the village 5 50%
-2 1 10%
-1 0 0%
0 Neutral 1 10%
1 0 0%
2 1 10%
3 I 6d |li ke to see this i 2 20%
Total 10 100%




Would you like teee a Roundabout in Big Rock in resident
streets?

39 -3 I't wouldndt fit the vi 6 60%
2 0 0%
-1 1 10%
0 Neutral 0 0%
1 1 10%
2 0 0%
3 I 6d |li ke to see this i 2 20%
Total 10 100%
Would you like to see a Roundabout in Big Rock on Routs
40 -3 I't wouldndét fit the vi 5 50%
2 0 0%
-1 0 0%
0 Neutral 0 0%
1 0 0%
2 3 30%
3 I 6d |li ke to see this i 2 20%
Total 10 100%
Would you like to see improved pedestrian crossings in B
Rock?
41 -3 I't wouldndét fit the vi 1 10%
2 0 0%
-1 0 0%
0 Neutral 1 10%
1 0 0%
2 2 20%
3 I 6d |Ii ke to see this i 6 60%
Total 10 100%
Would you like to see traffic calming installe¢dervillage
such as this in Downtown Batavia?
42 -3 I't wouldndt fit the vi 3 3M
2 0 0%
-1 0 0%
0 Neutral 2 22%
1 1 11%
2 0 0%
3 I 6d |Ii ke to see this i 3 3M
Total 9 100%
Natural Resources and Health Would you | ike to see 0gr €
stormwater?
43 -3 I't wouldndt fit the vi 0 0%
2 0 0%
-1 0 0%
0 Neutral 1 10%
1 0 0%
2 1 10%
3 I 6d |li ke to see this i 8 80%
Total 10 100%
Would you like to see community garden plots?
44 -3 It wouldndot fit the vi 2 20%
-2 0 0%
-1 1 10%
0 Neutral 2 20%
1 1 1%
2 0 0%
3 Il 6d |li ke to see this i 4 40%
Total 10 100%
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Would you I ike to see a Fs
45 il 3ltwoul dno6t fit the village O %
2 0 0%
-1 0 0%
0 Neutral 1 10%
1 0 0%
2 4 40%
3 I 6d |i ke to see this i 5 50%
Total 10 100%
Would you like teee more playgrounds?
46 -3 I't wouldndét fit the vi 1 10%
2 2 20%
-1 0 0%
0 Neutral 2 20%
1 1 10%
2 2 20%
3 I 6d |li ke to see this i 2 20%
Total 10 100%
Would you like to see more recreational fields such as ba
and soccer?
47 -3 I't wouldndét fit the vi 0 0%
2 1 11%
-1 0 0%
0 Neutral 5 56%
1 2 22
2 0 0%
3 I 6d |i ke to see this i 1 11%
Total 9 100%
Would you like to see as much farmland preserved as
possible?
48 -3 I't wouldndét fit the vi 0 0%
2 0 0%
-1 1 10%
0 Neutral 0 0%
1 2 20%
2 1 10%
3 I 6d |i ke to see this i 6 60%
Total 10 100%
Would you like to see indagecreation added in Big Rock?
49 -3 I't wouldndét fit the vi 0 0%
2 1 10%
-1 0 0%
0 Neutral 3 3%
1 1 10%
2 2 20%
3 I 6d |li ke to see this i 3 30%
Total 10 100%
Would you like to see local business supported more?
50 -3 I't wouldndét fit the vi 0 0%
-2 0 0%
-1 0 0%
0 Neutral 1 10%
1 0 0%
2 3 30%
3 I 6d |li ke to see this i 6 60%
Total 10 100%




Would you like to see more fresh fruits and vegetables in
school?

51 -3 I't woillagjedndt fit the 0 0%
2 0 0%
-1 0 0%
0 Neutral 1 1%
1 0 0%
2 2 20%
3 Il 6d |i ke to see this i 7 70%
Total 10 100%
Would you likearéa®? see 05s mg
52 -3 It wouldnoét fit the vi 0 0%
2 1 10%
-1 0 0%
0 Neutral 3 30%
1 0 0%
2 1 10%
3 Il 6d |i ke to see this i 5 50%
Total 10 100%
Would you like to see a medical use open in Big Rock?
53 -3 It wouldnoét fit the vi 0 0%
-2 1 10%
-1 0 0%
0 Neutral 1 1%
1 3 3
2 3 30%
3 Il 6d |i ke to see this i 2 20%
Total 10 100%
Would you like to see solar and wind powered streetlights
54 -3 It wouldnét fit the vi 2 20%
2 0 0%
-1 0 0%
0 Neutral 0 0%
1 0 0%
2 2 20%
3 I 6d |i ke to see this i 6 60%
Total 10 100%
Would you |l ike to see signgr
55 -3 It wouldnét fit the vi 0 0%
2 0 0%
-1 0 0%
0 Neutral 1 11%
1 1 11%
2 2 22%
3 Il 6d |i ke to see this i 5 56%
Total 9 100%
Would you like to see a new Village Hall?
56 -3 It wouldnét fit the vi 3 30%
2 1 10%
-1 0 0%
0 Neutral 2 20%
1 0 0%
2 3 30%
3 I 6d |i ke to see this i 1 10
Total 10 100%
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Would you like to see a community gathering place?

57 -3 I't wouldndt fit the vi 0 0%
2 0 0%
-1 0 0%
0 Neutral 2 20%
1 1 100
2 2 20%
3 I 6d |i ke to see this i 5 50%
Total 10 100%
Would you like to see more detention ponds?
58 -3 I't wouldndét fit the vi 2 20%
2 1 10%
-1 0 0%
0 Neutral 0 0%
1 1 100
2 0 0%
316d |Ili ke to see this in t 6 60%
Total 10 100%
Would you like to see more rain barrels at homes?
59 -3 I t fit theovilldgel n 6 t 0 0%
2 0 0%
-1 1 10%
0 Neutral 1 10%
1 2 20%
2 1 10%
3 16d Ii ke to see this in 5 50%
Total 10 100%
Would you like to see more raarrels at the
school/government facilities?
60 -3 I't wouldndét fit the vi 0 0%
-2 1 10%
-1 0 0%
0 Neutral 0 0%
1 1 100
2 2 20%
3 I 6d |i ke to see this in 6 60%
Total 10 100%
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